TouchDown Fixed Height
ML THE

Assembly.

EEIRES

Contents
KR x1 Top panel (1)
FL—k xl Plate (1)
XHE x1 Support (1)
Ly xb Legs (5)

M6x30 2 x2  M6x30 Screws (2)
M6. 3x19 < x4 M6.3x19 Screws (4)

R_@

TL— b EXHEMIOR ST LMY EEELTLIEEL, TL— b ERRENE. XIIRSHRITLoMY EBELT

Fix the plate and support securely with the {FEEW,
M6x30 screws. Fix the plate and top panel securely with the

M6.3x 19 screws.

XHEITLY T EEHRAH, BERARVEL2MY E
FHRAATLEE L,

Insert the legs into the support, and fix
firmly in place with screws.

TD_FIXO01 / Page 1



